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1.Can you determine which of the following is not an activity of the initialize phase? 

A. Train core RPA Team 

B. Define vision, target operating model and organizational roles 

C. Deliver initial processes/benefits 

D. Embed RPA benefits realization tracking as a core performance measure for automation roadmap. 

Answer: A 

 

2.Which of the following best describes realizing the full potential from RPA? 

A. Establishing RPA as an IT Project 

B. Focus on adapting the culture of the organization, as well as building specific RPA skills and capability 

C. Do not include IT in rolling out RPA into the organization 

D. Ensure the organization RPA is a desktop solution that anybody can install and use 

Answer: B 

 

3.How long does it take to build a ROM in the initialize phase of the maturity model? 

A. 1 week 

B. Up to 1 month 

C. 1-3 months 

D. 3-6 months 

E. 6+ months 

Answer: E 

 

4.Who does the Head of RPA need to work closely with? 

A. CIO and their respective teams only 

B. COO and their respective teams only 

C. Both the CIO and COO and their respective teams 

D. None of the above 

Answer: C 

 

5.Which of the following areas should the Head of RPA work with when rolling out an RPA Capability? 

A. Technology 

B. Process 

C. People 

D. Technology, Process and People 

Answer: D 

 


